000000 (00)

goo

Q3000000000 1960%

gbobooimmbboo oobooooboitoobboobooobobooon

o000 — 10000 — 00OO00boooooboobitb oot gobb obooao s8uuoo

gooiugd ———————— ubbooiitoooboooboobooboboobo bbo1an
oo ———————— gogodogoibcoogoopoicbbbb oot o0 oo
gobiooooooooobooooog ———————— ubobOooimmboobdoboood

gogoooicoogoo oooooooooonnpoo 20000000000 =——=————
—— 0OoOoObooobbboioooobbb bbb = —m—————— -
obodb::—93000 — 00000 oboboboiibob oo oooo0oO0oO0 10
goooboobobooobob boboboboo Ml ————————

—0O0O00000— DOoOonNpooo0o0ob000ooOoooOeos 0000 O09e0s 000
OO00O0oO000obD@ooooessoooon)



	
	
	対ボルビック(勝ち)



